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™ 6 L = kL
@ 29 om® = dL
@ 22 m = cm
@ b kL = cm
® 6 kL = mL
© 1 kL = L
M 74 m = kL
® 13 cm = L
@ 1 L = m
ao 2 do = cm
an 8 cm = m
a2 L = cm
13 b dl = mL
s 2 kL = m
ae 1 do = L
1oy 2 mL = L
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an 3 m?’
a1 L
19 4 mL
@ 7 m?’
en 72 L
@2 4 mL
@ 24 do
4 3 kL
@5 53 cm’
@ 7 m?
@ 7 m?
©® 2 db
©9 58 mL
G0 48 mL
@H 12 kL
@ 18 cm’
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HWROEME DR (BEX)
Z Al H H s VA
®m 6 L = 0.006 kL an 3 m® = 3000 L
@ 29 cm® = 0.29 dL a1 L = 10 d
@ 22 m® = 22000000 cm 19 4 mL = 4 cm”
@ 5 kL = 5000000 cm e 7 m® = 70000 dL
& 6 kL = 6000000 mL ey 72 L = 72000 mL
© 1 kL = 1000 L @ 4 mL = 0000004 m°
M T4 m® = 74 kL 0y 24 d. = 0.0024 kL
® 13 cm® = 0013 L o9 3 kL = 3 m’
@ 1 L = 0001 m 5 53 cm® = 0.000053 kL
a2 d = 200 cm 2 7 m® = 7 kL
an- 8 cm® = 0000008 m en 7 m® = 7000000 mL
a2 2 L = 2000 cm o 2 d. = 0.0002 m"
a» 5 dl = 500 mL @» 58 mL = 0000058 KL
an 2 kL = 2 m @0 48 mL = 048 dL
as 1 dL = 0.1 L @y 12 kL = 120000 dL
a2 mL = 0002 L @ 18 ecm® = 18 mL



